A EAA
HE: HYRIFH (2AL)
chel: ol gyl CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
S N 4,879,052 4,482,756 396,296
= 351,326
J| 876,706
< 309,053
s 3,341,967
HY2IZH (BEHL) 766,550 732,833 33,717
ol 2| 376,442 367,354 9,088
ol Al 376,442 367,354 9,088
101 1A bl 348,362 339,274 9,088
01 2= 139,476 131,833 7,643
OANHA2ZRag HHF(57Y) 59,733
— 5= 11,0023 x1H x10A 2t % 12& 1,321
— 6= 9,383& 17 «10AI 2t*12& 19,142
—-7=2 8,476 36 x10Al 2tx 123 36,617
— 8= 7,609& «2F *10Al 2tx 128 1,827
— 9= 6,878 x1H «10Al 2tx123 826
Ozuz22+¢ 79,743
— 8244 8,476% *30H x25A1 2tx 12 76,284
—82AXs, 8¢ 8,4763 +17H +2Al 2tx 128 3,459
02 JIEt A2 == 190,625 191,171 A 546
O3SBAHAN(HELR) 186,720
—8da 700,000 «6H «12&2 50,400
A PNEN 700,000 «16H =128 134,400
—S==XZ2fg 40,000 *4H 122 1,920
OA= (03, 1¢) 858
—ANZZRY 7,142 8«1+ 10AI 2Hx 128 858
OFJAZ (1Y) 3,047
—ANZLZRY 7,252« 1B x10AI 2t+ 122 871
—=U2FRE 7,252 1 H *25A1 2tx 128 2,176
03 RIAHAZZ2 T E =+ 18,261 16,270 1,991
OAR&(1E) 18,261
-5 = 40,4003 250 10,100
— ek 3 4,040 x250 1,010
— 0= 40,4003 =100 4,040
—AZte 2R+ 5,050 «10Al 2t+12& 606
—FTERSY 40,400 523 2,101
— RS 40,4003 x10 404
203 2R E=F | 8,280 8,280 0
02 AP 2= 2,400 2,400 0
OFAJtatg =& 40,0003 60 2,400
04 FN2IELSF=AH 5,880 5,880 0
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A EAA
Ha: ¥HSYAH(2AL)
& o 2d| (&)
SN HH-S(BN) - MBAY - B il HlnE2
ORAN2EYE=LHI
(350,000& 128 )+(5,000& 28 *12& ) 5,880
204 AR A H| 19,800 19,800 0
01 ¥R A 1,800 1,800 0
OXMGHRFAHI 150,000& 128 1,800
03 EZ YA 18,000 18,000 0
ougl st 50,000& *30H =128 18,000
|23 bl 390,108 365,479 24,629
Jl23Hl 294,923 273,449 21,474
201 £B-2%H| 144,455 142,071 2,384
01 At 22l 64,032 66,172 A2,140
Oet==EHl SHN & 21,122
Oogdld 60,0003 x1H 115 6,900
O=&Hl SUA & 36,010
02 =224l 80,423 75,899 4,524
033223 ¥ HMA(g2x2E) 42,823
—HdE=2 g =22 110,000& = 12& 1,320
—&8=x2 22 dXEH 25,0002 *12& 300
—dIIAEE 26,400
= = 1,200,000& 128 14,400
g 2 1,000,000 »12& 12,000
— ST ASE (222, 82) 300,000& 128 3,600
—RERZ3 3,258
ot H 2703 x350= 12 1,134
SIRE(QUIALRS)
1,770& 1003 128 2,124
— 24X Y F SEEEE 4,600
HESE 800, 000% = 1CH 800
L2EsE 500, 000& »2CH 1,000
cWEHA 900,000 = 1CH 900
L2EESE 450,000 =4 H 1,800
HAE O|E Xt 100,000& = 1CH 100
— &It HE =8 200,000& 128 2,400
—2ZUEASSZ 500,000& =13l 500
—#INM 23 445
& A 110,000& »23] 220
o 75,0003 =3CH 225
O 2 i 11,626
— ALY A2
1,384& %204 *3AlI2t+100 8,304
— ALY AZHl 1,384 %204 *3Al2tx40Y 3,322
OAl4d ZHl |Xitl 4,776
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2N
X ZH -
L= B

el

M. o (BH) - HSAY - BAS il HDS2
—2ABRAAE FHMI RN
200,000& x12& 2,400
—HANSA (22, &2
1,000& x2,376m 2,376
OXt & dl 21,198
—dEsE 3,390, 000& = 1CH 3,390
— 2832 (200) 3,068,500& «2CH 6,137
—HEHA 3,707 ,000& = 1CH 3,707
- AESE14H) 1,916,000& =4 CH 7,664
— &I X 300,000& *=1CH 300
202 (4] 116,460 109, 370 7,090
01 2L Y| 46,860 39,770 7,090
OZWHodl(2tLH) 28,780
OZ2UWHodl(22l) 18,080
02 EAHNYI 69,600 69,600 0
OXA, B2A UL (ZNH)
200,000& x29H x12& 69,600
307 QI2t0| ™ 22,008 22,008 0
05 A2t E 2 22,008 22,008 0
ORoAHIE2Y =2 22,008
= a DN PN = 96,000& * 17 A x12& 19,584
—E2HA g2 132,000& *12& 1,584
—SE2AHAFHA CCTV =& 70,000& =128 840
405 XtabF SHI 12,000 0 12,000
01 AL 2B F SHI 12,000 0 12,000
O A7 12,000, 000& = 1CH 12,000
[2HHI(BA X A) 95,185 92,030 3,155
201 L2 Y| 73,385 69,390 3,995
01 At 22l Yl 9,961 9,846 115
Ogets2 SHAH A 9,961
02 33294l 63,424 59,544 3,880
O0332= % HAl 37,414
—&dE=2 2 F 40,0003 *7)0 2~ x12& 3,360
—&8==2 22 8XEf1 25,000& x12& 300
—&IIASE 300,000 *x7H A~ 128 25,200
— Mol AMEE 30,000& *7H A+ 128 2,520
—RERZ 5,000& *70 A~ «12& 420
— MOt EA =42 35,000 *7H Ax128 2,940
—JIAANS otE B E 11,000& *70 A~ *12& 924
25+ AHE 250, 000& *7JH 2~ 1,750
O9 & Hl 18,960
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A EAA
Ha: ¥HSYAH(2AL)
& 123l (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
— oIl A dery
25,0003 40 x5 = *30H A x4 & 6,000
— 38222 =4 dudyl
0,000& 1801 2128 12,960
OA& &8l Sl 7,050
— EASI 22 500,000 *7H 2 3,500
— A EH |FXE=H 150, 000 *7H 2~ 1,050
—HAYED SASHH(2AX L)
500,000 *5H £ 2,500
202 odl 15,840 15,840 0
01 2LHOI bl 15,840 15,840 0
OBZ2AAN W2YR =7
20,000 »3d x22H «12& 15,840
405 TtobF S| 5,960 6,800 A 840
01 AL EFFHSHI 5,960 6,800 A 840
O%E L JiE B2 &) (E5,82)
500, 000& »2CH 1,000
O%X =¢ 200,000& x52¢ 1,000
OZeHII(8=) 500,000& = 1CH 500
OXate SIRMHE HSII(EL, BF)
700,000& =2CH 1,400
OaF & A-W(S8Z, 2AH, o)
250,000 *42¢ 1,000
Oty &Iy, 22) 50,0003 =4 CH 200
OAE MA(THA) 80,000& =7 CH 560
OugH (8, ZAM) 150, 000 & *2 K 300
012 29 & ALSTNMH A 4,112,502 3,749,923 362,579
= 351,326
J| 876,706
= 309,053
= 2,575,417
SAHYSHHA K& 389,971 380,089 9,882
= 226,012
J| 700
< 56,503
[ia 106,756
SH2ASAHE F MHIADIEIRF 33,340 52,940 219,600
201 Let2d] 4,040 4,440 A 400
01 At 22l 3,240 4,440 A1,200
Oget=&H| 3,240
—sHEAS HMHIAAHE MM E
6,000& 1002 600
—NgBHgZHE MM E 6,000& x100% 600
— SAEEX T2 BA =2 1,500

- 400 -




2N

CEPS
HH: B 2Y L AYSIMNUIA
2219 2

ool B MEIA XA (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
—X-dEdH=Me== 25,0002 128 300
—X-EBAXNTZL A2
30,0003 2 *43] 240
02 =24l 800 0 800
OMXLEAI HHWHMS FX 2
800,000 = 1CH 800
301 et A Z 300 0 300
10 HALAHI 242 300 0 300
OHALZ(BE) FAX A
1,000& 300 300
307 21201 A 2,000 2,000 0
01 9 2¥ 72| 2,000 2,000 0
OLUZHA AZXE 435 2l 2,000
401 Al HIZ 201 I 27,000 46,500 A 19,500
01 A& HI 27,000 46,500 A 19,500
OAI&HI 27,000
—BAXL B BA 1,000,000 *3H A& 3,000
—EAXAL =3 AH(BE, 2A)
10,000, 000& *2H 4 20,000
— S2AXN L LT B A= O}
2,000,000 *204 2~ 4,000
2L 222 5,000 32,000 A 27,000
401 AIEHI L 2CHYI 5,000 32,000 A 27,000
01 A& Hl 5,000 32,000 A 27,000
OB dete)| M2 2 B3 At 5,000
BAZAIE NLALL 11,613 100,530 A 88,917
101 14 Hl 5,013 4,730 283
04 JIZHHZ2XREE S 5,013 4,730 283
OEdA A & FHFel 42,780 ~1H +88 3,765
OEAXN A F=EHEFHe| 42,7803 x2H +70 & +23] 1,198
OdMEE= 4,963,000& *1% 50
201 LBt 2,500 2,500 0
01 At 22l 2,500 2,500 0
Oul=l 2,500
— 9JAH, 2SS A RAMES 50,000& »50 % 2,500
202 O4dl 2,400 2,400 0
01 = LH 4 1 2,400 2,400 0
OsHEAZ MHI AL ALS
60,0003 «4H 10 2,400
405 XHoHF S HI 1,700 90,900 A 89,200
01 AL EZFH S 1,700 90,900 A 89,200
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2N 2AA
H: 202 29 ¥ ALBIMUA
2219 2

el

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

O=Al & ZEHI2e 1,000
—EAHEREN ZHII 500,000& »1CH 500

—JtE2S H2EHE ZTEHI]

500,000& = 1CH 500

Oolga 222 $FD 2 (42021H)

700,000 ~1CH 700

SOHEAS MBI ANE AL 339,018 193,119 145,899
226,012
56,503
56,503

MW

401 AIEHIZ 2 I 248,928 173,124 75,804
165,952
41,488
41,488

Mo H

01 A& HI 242,340 169, 128 73,212

OBAXx M- &

1
1z
4

. g
121,170,000& #200 & 242,340
161,562
40,389

40,389
02 Zeldl 4,960 2,900 2,060

Mo

O

T
¥
>~
I
T
1
JE
1

&)
,480,000& *20H & 4,960
3,306
827
827

03 Al S THHI 1,628 1,096 532
OEdXx i - =2 A
814,000& »2H 2= 1,628

1,084
272
272

o
, 8
2

Mo R

1
g
1

Mo A

405 TtabH S| 90,090 19,995 70,095
60,060

15,015
15,015

MW

FSHI 90,090 19,995 70,095
2 o= &4 7L

6,930,000 * 1304 & 90,090
60,060
15,015
15,015

A

A 2 OMAT2 S 1,000 1,500 A 500

700
300

X

N
2
ne
L
Mo
02
=

600 600 0

420
180

H X
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A EAA
M 202 2 & ALSAHAMHA
ool BAABMHIA XE (eol:@e)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 At 22l 600 600 0
OoXNgge HHEd £2s2A28 1II=2+1¢ 600
J| 420
s 180
202 04 Hl 400 400 0
J| 280
= 120
01 = LH 4 HI 400 400 0
OXees WHeX 5502 400
J| 280
e 120
dFE ol ook e 343,252 290,883 52,369
= 75,371
J| 14,741
< 19,254
s 233,886
=4 dg8 2l 19,300 16,100 3,200
201 Zet24l 3,400 1,900 1,500
01 At 2t 2l 2,200 700 1,500
Oget=gHl 2,200
—ZgE g2 AHAEN R = S
EE228 MX 2,000& *2Z 50004 2,000
—=ZZAME =8 2 100,000 »2%F A 200
02 =224l 1,200 1,200 0
o332 & HA 300
— Y HIAHEEZ 23 25,0002 128 300
OA&EHl Xl 900
—dAE D8RI S FHIRA
150,000 63 900
206 M= Hl 9,900 9,400 500
01 M= 4l 9,900 9,400 500
gELHEE oY 9,900
— EXIRASHY JIOH 2
3,000& *1,500H 4,500
—LELHEE HYEAN 7Y
1,800& +3,0004 5,400
307 21201 A 6,000 4,800 1,200
01 92724l 6,000 4,800 1,200
OZgY JHIHd2SMAE =St
300,000& x5 1,500
Oy - AZ0HHEE 2EYE JHHE= WA=
=S X 300,000& x5 1,500
OZIgae BAAS 300,000& 5% 1,500
O=ZZA Al 500
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2N

=]
2

HM: 22
&

12 29 L ALSINUIA
SRl Y oY Y oo e CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ZHEI XEH S XN (MZE0E S) 1,000
ot Mgy 2el 23,690 22,490 1,200
201 Let24d] 2,550 2,550 0
01 At 22l 1,750 1,750 0
Oger=EH| 1,750
=8 I HFSHA =8 3,500& 500 1,750
02 2324l 800 800 0
OA&ZEHl s X bl 800
—0lOI= Z A S 2el 700,000& = 1CH 700
—&801& sz 100,000& = 1CH 100
202 04l 2,400 ,400
01 = LH 4 Hi 2,400 ,400
OgHHlithot & nEEs
60,0003 «1&H 20 1,200
QYU S2ZA L WREH(Z, AlZ)
60,0003 «1&H 20 1,200
301 LA Z 1,300 ,300
10 HALAHI 242 1,300 ,300
OCEYEZULEHI ws 2taldl
1,500& x 12| x200H 300
OE 2, & Atz s ¥4g84Y 22 Mg &
JbRE 2HAMH] 1,000& *22] *x500H 1,000
307 21201 A 15,940 ,240
01 92724l 6,840 ,840
OZ#HIAAIY L I (HANE &2H01E2
ctA 8) 500
OZHSNXNZEZAS 10,000& 100 1,000
OLaBAE JIIXNH(SEEAMN JIINM S) 1,500
Ogg=3d AH 30,000& x50 1,500
OEHH A Al 200,000 x5 1,000
O2Jls 2N JXM(EE S) 150,000 x6 = 900
OF0 JMEAA JIIXM(MHS 15)
100,000& »2%F A 200
OZHPANE HES 120,000 »25+ A 240
02 2ItFAEX 1,000 1,000 0
Ogtulol & A &I X2 1,000
05 BIZIRI & 3 8,100 8,400 A 300
Ot eI I8z ¥ 2el 8,100
405 RHoHF S HI 1,500 0 1,500
01 AL EZFH S 1,500 0 1,500
OZsHa 3I&RI| X (WEHE 5) 1,500
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A EAA
& 82402 29 Y ALSIAHA
SRl Y oY Y oo e CERED
SAH-EB .S (3H) - HEAY - BE2 ﬁlf& HD=2
gALE 174,024 181,750 NT,726
101 @121 4,321 4,077 244
04 JI2ZtH22XNHEE =+ 4,321 4,077 244
OStH LA A= 42,7803 x2H x5 x103] 4,278
Ot = 4,278,000& *1% 43
201 Bt A | 28,551 28,007 544
01 AFR2 2t 2l Yl 350 640 A 290
Oget+=gH| 350
—2J|REs2e ¥ Mllas 50,000& x7& 350
02 =294l 28,201 27,367 834
ogdg 218 24,656
-4 = 1,851& %2004 =603 22,212
—FeR 2,036& *204 *603] 2,444
OAl& &EHl 7 XYl 3,545
— AEFSADR LS| 50,000& = 10CH 500
- NHEE2RAS 25,000& x100H 250
— 58450 25,000& = 100CH 2,500
— Z = 5,000& *59CH 295
206 M = Hl 115,552 122,566 AT,014
01 X2t 115,552 122,566 NT,014
oggg %= 12,400
-5 &4sAH 40,000& *24 *603] 4,800
—dasE &S 40,000& *24 *603] 4,800
—Ss72HE &=H 40,000& *24 *153] 1,200
—ZgEgogs 42 40,000 24 *203] 1,600
Oitsggad JJAZ gAAxF 103,152
—E2F2S4SAH 30,000& *14 *307H & x43] 36,840
— o g asAH 30,000& *12 *307H &x43] 36,840
—SSFHELSAH
40,0003 *1¢ *307 M &t*23] 24,560
—Z2HE &sH 8,000& x14 =307 &x23] 4,912
405 XtabE SHI 25,600 27,100 A 1,500
01 AL 2 EF SHI 25,600 27,100 A 1,500
oxgs AS)|(S,H2Ld) 1,650,000& =4 CH 6,600
OX&E2ULY 5,000, 000& = 1CH 5,000
sEe AS)|(8.HEE) 650, 000& *20CH 13,000
O&=dE 2= 1,000,000& = 1CH 1,000
RN (HZHR 22242 F4) 15 98 A83
& 15
202 (4] 15 98 A 83
T 15
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HM: 22
&

(2 29 & HLASAAHA
Sl HMEY oY Y oo el (S &2)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
MESHAUH XN EZAIZS I 229 2,640 2,640 0
J| 1,320
& 396
= 924
307 2iz2to| & 2,640 2,640 0
J| 1,320
&< 396
= 924
02 QI2t3 A X 2,640 2,640 0
OMZHHAKNAEZAI S| 229 | 2,640
J| 1,320
o= 396
= 924
S dEE ol 2el 9,142 10,000 A\ 858
J| 4 571
= 4 571
101 e1214| 3,742 3,940 A 198
J| 1,871
& 1,871
04 JI2ZtHI22NEE S 3,742 3,940 A 198
OoggEdas ogael 3,742
J| 1,871
& 1,871
201 LBt 2,000 2,400 A 400
J| 1,000
== 1,000
01 AP 22| H| 2,000 2,400 A 400
ORBI(LZASHEY EESHH 2,000
J| 1,000
= 1,000
206 M = dl 3,400 3,660 A 260
J| 1,700
= 1,700
01 X2 bl 3,400 3,660 A 260
OERXIULZAIZHY SE (X2 )7 3,400
J| 1,700
o=t 1,700
o= &L HdYNEAIYE X 2,270 1,482 788
J| 1,135
= 554
= 581
202 o4 H] 42 42 0
J| 21
= 21
01 2Ll 42 42 0
oolol=2gol s=2e| 42
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s
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201 L2l 0 5,000
Jl
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s
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202 odl 0 2,890
Jl
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s
01 = LH o4 1l 0 2,890
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s
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